Balancing Chemical
Equations Worksheet

BALANCE THE FOLLOWING EQUATION: H, + O, H,0O

A.
B.

L, 11 C. 2,2,2
2,1, 2 D. 2,1,1

Which coefficients correctly balance the equation for
the combustion of propane: C;Hg + O, CO, + H,0?

Balance the equation: NaCl + AQNO;  AgCI + NaNO;

A.
B.

1,1, 1,1 C. 2,2,2,2
1,2, 2,1 D. 2,1,1, 2

What type of reaction is represented by the
equation 2H, + O, 2H,0°?

Decomposition C. Synthesis
Double replacement D. Single replacement

What type of reaction is represented by the
equation NaCl + AgNO;  AgCl + NaNO3?

Decomposition C. Synthesis
Double replacement  D. Single replacement



